13, E#HFE Linear Equations

173-3
7x—11 =3x-39
7x—-11+11 =3x-39+11
7x =3x-28
7x —3x =3x—-28-3x
4x =—-28
x o _—28
4 4
X =Ty
Solve the following equations.
i YR
. 6x—-12=24+3x 2. Tx—=1=8x+29
3. 4x+10=7x+25 4. x+3=16x-42
5. 26+x=9-x 6.0 20+y=-10+4y
7. Il -m=37-2m 8. 15-2x=36-5x
9. 18 -5y=10+7y 10. 35-6y=15-4y
1. 6x+22=2x-2 12. 14y+5=11y+20
13. 3x-1=9-5x 14. 4m+20=60—-4m
15. 3-2n=17+5n 16. 28+ 6n=14+n
17. 15m+4=20m+ 39 18. 10—-4y=38—16y
19. 18x—11=22x-29 20. 9x+32=-3x+20
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13-12

30 30 30
5x+15-x+3 =4
4x +18 =4
4x =418
4x =-14
=14 -7

X:_:_
4 2 7

Solve the following equations.

i NYITIHE
L X—8+3=X+8 5 y—2_y—1=1
5 6 4 8
x—-4 X X—2
3 —-==-1 4. 8- =5
6 4 3
5 y+2+7—2y 0 6 n+7 1 _ n+3
3 5 2 3 9
7 2r-1  4r+2  5r-5 g 2y—-1  4y+3  y-3
8 3 6 5 10 2
9 2x-7/ 3+l 5x-4
' 3 4 7

X 7x
10. ——4xx-3)= — —-3(2x-2
2 (x-3) 5 ( )
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